—RR T F CERATILA ASEFRE 2024.2.23
v = = NES = e 1 Z
JIE{sz K % FRIEY57 = E= Nz RZE KAk | FAR
S TORITENN 20 8 16 4 48 20
1/ B8 TORITENnN 20 8 16 4 48 20
1|hH ShE FiEHST 0 20 8 20 48 20
4|mM BE B RRIERPITC 8 0 8 20 36 20
50REF WDh JEU DE PAUME 0 0 20 4 24 20
6|ELTF &=E IRT—ZAZT—)b 0 8 0 16 24 16
7|2 &F JLTF 12 12 0 0 24 12
UESTER S cielo 12 12 0 0 24 12
7mf RRE PN EYAPES 0 12 12 0 24 12
7% XF FEINT.C 0 12 12 0 24 12
7|ER BE JEU DE PAUME 12 4 0 8 24 12
12| AT FiEYST 0 20 0 0 20 20
12[—3% & STEHERETC 0 0 20 0 20 20
14(NHE BE cielo 0 4 0 16 20 16
15|18 ¥ WAY's 4 0 4 12 20 12
16| =55 &Hit ROUGHAS 0 4 8 8 20 8
17|18 = EARNAST TENNIS ACADEMY 16 0 0 0 16 16
17 |[{RiE KRS ROUGHA%S 16 0 0 0 16 16
17|FIE HE3 JLTF 0 16 0 0 16 16
17| B¥ ROUGHAS 0 16 0 0 16 16
21(Ep HITE ROUGHAD 0 4 12 0 16 12
21|&R /\BE TORITENnN 0 4 12 0 16 12
21| H.F k& WAY' s 0 4 0 12 16 12
21|[EA H<H ILTF 0 4 0 12 16 12
25K Hifd HHETC 8 8 0 0 16 8
25| &PIH 1EE HHETC 8 8 0 0 16 8
25|&5E KK EERERIERAT T C 8 8 0 0 16 8
2580 HBF TORITENnN 0 8 0 8 16 8
25T/ B&RE ROUGHAS 0 8 0 8 16 8
30|BRE &R ROUGHAS 12 0 0 0 12 12
0|HE && WAY' s T=2%957 0 0 0 12 12 12
32|Alll FE ROUGHAS 4 0 4 4 12 4
33[aIEF ik FrYI—R 0 0 0 8 8 8
33| KR ILTF 0 0 0 8 8 8
335K S EARNEST 0 0 0 8 8 8
33|HE iI8E IMEFINVER 0 0 0 8 8 8
33| AT 18 WAY's 8 0 0 0 8 8
33| BE WAY's 8 0 0 0 8 8
33|HEE HC ILTF 8 0 0 0 8 8
33|HE FF ILTF 8 0 0 0 8 8
3B1MEERE L= HETF-AHs 0 0 8 0 8 8
331K AZE HETF-AHs 0 0 8 0 8 8
33 /J\XE T4 ROUGHA % 0 0 8 0 8 8
3B3|ER fEF ROUGHA % 0 0 8 0 8 8
3B3|HRE BE JEU DE PAUME 0 0 8 0 8 8
46|k BT HAWAMOA 0 4 0 0 4 4
46 | F9AF EMS HAWAMOA 0 4 0 0 4 4
46|tHEE HTT FAIR 0 4 0 0 4 4
46| EF HHET - 0 0 4 0 4 4
46(EH H HET - 0 0 4 0 4 4
46 |1HFxX EEB | = [ Fp A e 0 0 4 0 4 4
46| ¥1E | = [ Fp A e 0 0 4 0 4 4
46 |55k B{ETF JEU DE PAUME 0 0 0 4 4 4




46(aJI1 BHE F—-LhEH 0 0 0 4 4 4
46|10 H BE F—-LEH 0 0 0 4 4 4
46108 BHT Hornet 0 0 0 4 4 4
46 |FEEY R3E Hornet 0 0 0 4 4 4
46|=H BT ROUGHX % 0 0 0 4 4 4
46|=F H=E FHIUTC 0 0 0 4 4 4
46 | FERTFR HAWAMOA 4 0 4 0 8 4
46| KB T ROUGHA% 0 0 4 4 8 4
48| 2B EETF ROUGHAS 0 0 0 4 4 4
48| KF & ROUGHAS 0 0 0 4 4 4
48| BHE HfLT WAY' s T=2957 0 0 0 4 4 4
48| Bk B WAY' s T=2957 0 0 0 4 4 4
48|18k IBE ROUGHAS 0 4 0 0 4 4
48| 5% ER ILTF 4 0 0 0 4 4
48|1BAR BT WAY' s 0 4 0 0 4 4
48|15k BT CRTC 4 0 0 0 4 4
48|fE (£ CRTC 4 0 0 0 4 4
48| EiE FiE ILTF 4 0 0 0 4 4
48|HE HHh WAY' s 4 0 0 0 4 4




